

COMMUNICATIONS

DE LA FACULTÉ DES SCIENCES
DE L'UNIVERSITÉ D'ANKARA

Série A₁ : Mathématique

TOME : 33

ANNÉE : 1984

The Theory of Integration on Manifold
and
The Volume For Parallel Hypersurfaces

by

Cengiz KOSİF* - H. Hilmi HACISALİHOĞLU**

30

Faculté des Sciences de l'Université d'Ankara
Ankara, Turquie

Communications de la Faculté des Sciences de l'Université d'Ankara

Comité de Redaction de la Série C

H. Hacısalihođlu – C. Kart – M. Balci

Secrétaire de Publication

Ö. Çakar

La Revue "Communications de la Faculté des Sciences de l'Université d'Ankara" est un organe de publication englobant toutes les disciplines scientifiques représentées à la Faculté des Sciences de l'Université d'Ankara.

La Revue, jusqu'à 1975 à l'exception des tomes I, II, III était composée de trois séries

Série A : Mathématiques, Physique et Astronomie,

Série B : Chimie,

Série C : Sciences Naturelles.

A partir de 1975 la Revue comprend sept séries:

Série A₁: Mathématiques,

Série A₂: Physique,

Série A₃: Astronomie,

Série B : Chimie,

Série C₁: Géologie,

Série C₂: Botanique,

Série C₃: Zoologie.

A partir de 1983 les séries de C₂ Botanique et C₃ Zoologie ont été réunies sous la seule série Biologie C et les numéros de Tome commencerons par le numéro 1.

En principe, la Revue est réservée aux mémoires originaux des membres de la Faculté des Sciences de l'Université d'Ankara. Elle accepte cependant, dans la mesure de la place disponible les communications des auteurs étrangers. Les langues Allemande, Anglaise et Française seront acceptées indifféremment. Tout article doit être accompagné d'un résumé.

Les articles soumis pour publications doivent être remis en trois exemplaires dactylographiés et ne pas dépasser 25 pages des Communications, les dessins et figures portés sur les feuilles séparées devant pouvoir être reproduits sans modifications.

Les auteurs reçoivent 25 extraits sans couverture.

l'Adresse : Dergi Yayın Sekreteri

Ankara Üniversitesi,

Fen Fakültesi,

Beşevler-Ankara

TURQUIE

**The Theory of Integration on Manifold
and
The Volume For Parallel Hypersurfaces**

Cengiz KOSİF*—H. Hilmi HACISALİHOĞLU**

(Received October 15, 1984 and accepted December 28, 1984)

ABSTRACT

We generalized the theorem about the hyper area element dA for the manifold of orient μ in E^n and by using this theorem we proved the generalized Divergence Theorem.

First we defined the outward unit normal vector field of manifold M in a hypersurface as:

$$\vec{N}|_x = \frac{\vec{X}u_1 \wedge \vec{X}u_2 \wedge \dots \wedge \vec{X}u_{n-1}}{\|\vec{X}u_1 \wedge \vec{X}u_2 \wedge \dots \wedge \vec{X}u_{n-1}\|}$$

and secondly we defined the hyper area element dA as:

$$dA = \|\vec{X}u_1 \wedge \vec{X}u_2 \wedge \dots \wedge \vec{X}u_{n-1}\| du_1 \wedge du_2 \wedge \dots \wedge du_{n-1}$$

and finally by using these definitions, we obtained the area $A(t)$ of the hypersurface M_t which is parallel to the hypersurface M .

In addition we obtained the Volume of an orbit-house, generated by H/H' motion in the active H space.

1.1. INTRODUCTION

Let M be a k -manifold with orientation μ in E^n and μ_x be an orient at the point $x \in M$. \langle, \rangle shows the inner product and $dA(x) \in \Lambda^k(T_M(x))$. The non-zero k -manifold dA is called the area element defined by the orientation μ , where μ is defined by the inner product \langle, \rangle on M .

If the orthonormal base system $\{u_1, \dots, u_k\}$ in $T_M(x)$ and the outward unit normal vector field of M at x is $N|_x$, (for the simplicity we will show $N|_x$ by N), then

*. 19 MAYIS ÜNİVERSİTESİ. Fen-Edebiyat Fakültesi-SAMSUN

** GAZİ ÜNİVERSİTESİ-Fen-Edebiyat Fakültesi-ANKARA

$$(1.1) \quad dA(u_1, \dots, u_k) = \det \begin{bmatrix} u_1 \\ u_2 \\ \vdots \\ u_{k-1} \\ N \end{bmatrix} = \langle u_1 \wedge u_2 \wedge \dots \wedge u_{k-1}, N \rangle$$

is defined like this [1]. According to this definition it is clear that the vector $u_1 \wedge u_2 \wedge \dots \wedge u_{k-1}$ is the direction of N .

THEOREM I. 1.

If M is an $(n-1)$ -manifold with orientation μ in E^n and the outward unit normal vector field of M is $N = (n_1, n_2, \dots, n_n)$ and $\{x_1, \dots, x_n\}$ is an Euclidean coordinate system of E^n , then

$$dA = \sum_{j=1}^n (-1)^{j+1} dx_1 \wedge dx_2 \wedge \dots \wedge \widehat{dx}_j \wedge \dots \wedge dx_n$$

and

$$n_1 dA = \widehat{dx}_1 \wedge dx_2 \wedge \dots \wedge dx_n,$$

$$n_2 dA = -dx_1 \wedge \widehat{dx}_2 \wedge dx_3 \wedge \dots \wedge dx_n,$$

⋮

$$n_j dA = (-1)^{j+1} dx_1 \wedge \dots \wedge \widehat{dx}_j \wedge \dots \wedge dx_n,$$

⋮

$$n_n dA = (-1)^{n+1} dx_1 \wedge dx_2 \wedge \dots \wedge \widehat{dx}_n.$$

Here dA shows the hyper area element and the $(\langle \rangle)$ terms will be omitted.

PROOF: We know that the $\dim \Lambda^{n-1}(T_{E^n}^*(x)) = \binom{n}{n-1} = n$, $(u_1 \wedge u_2 \wedge \dots \wedge u_{n-1})$ is an element of $T_{E^n}^*(x)$. If $\{u_1, \dots, u_{n-1}\}$ is an orthonormal base system in $T_M(x)$, an orient μ_x in M is

$$\mu_x = [u_1, \dots, u_{n-1}] .$$

Let $U_i = (U_{i1}, \dots, U_{in})$, then

$$(1.2) \quad dA(u_1, \dots, u_{n-1}) = \det \begin{bmatrix} u_1 \\ \vdots \\ u_{n-1} \\ N \end{bmatrix}, \quad 1 \leq i \leq n-1,$$

$$= \begin{bmatrix} u_{11} & u_{12} & \dots & u_{1n} \\ u_{21} & u_{22} & \dots & u_{2n} \\ \vdots & \vdots & \ddots & \vdots \\ u_{n-11} & \dots & u_{n-1n} \\ n_1 & n_2 & \dots & n_n \end{bmatrix}$$

$$= n_1 \begin{bmatrix} u_{12} & u_{13} & \dots & u_{1n} \\ u_{22} & u_{23} & \dots & u_{2n} \\ \vdots & \vdots & \ddots & \vdots \\ u_{n-12} & \dots & u_{n-1n} \end{bmatrix}$$

$$+ (-n_2) \begin{bmatrix} u_{11} & u_{13} & \dots & u_{1n} \\ u_{21} & u_{23} & \dots & u_{2n} \\ \vdots & \vdots & \ddots & \vdots \\ u_{n-11} & \dots & u_{n-1n} \end{bmatrix} + \dots +$$

$$+ (-1)^{n+1} \begin{bmatrix} u_{11} & u_{12} & \dots & u_{1n-1} \\ u_{21} & u_{22} & \dots & u_{2n-1} \\ \vdots & \vdots & \ddots & \vdots \\ u_{n-11} & \dots & u_{n-1} & n-1 \end{bmatrix} .$$

On the other hand

$$dx_{i_1} \wedge dx_{i_2} \wedge \dots \wedge \hat{dx}_{i_j} \wedge \dots \wedge dx_{i_n}$$

$$= \frac{\overbrace{(1+1+\dots+1)}^n}{1!1!\dots!1!} \text{Alt} (dx_{i_1} \otimes \dots \otimes \hat{dx}_{i_j} \otimes \dots \otimes dx_{i_n})$$

$$= \sum_{\sigma \in S_{n-1}} s(\sigma) dx_{\sigma(i_1)} \otimes \dots \otimes dx_{\sigma(i_j)} \otimes \dots \otimes dx_{\sigma(i_n)}$$

[2], Where $\sigma = \begin{pmatrix} 1 & 2 & \dots & n \\ i_1 & i_2 & \dots & i_n \end{pmatrix}$. Thus it can be written as

$$(1.3) \quad (dx_{i_1} \wedge \dots \wedge dx_{i_j} \wedge \dots \wedge dx_{i_n})(u_1, \dots, u_{n-1}) = \begin{vmatrix} dx_{i_1}(u_1) & dx_{i_1}(u_2) & \dots & dx_{i_1}(u_{n-1}) \\ dx_{i_2}(u_1) & dx_{i_2}(u_2) & \dots & dx_{i_2}(u_{n-1}) \\ \vdots & \vdots & \ddots & \vdots \\ dx_{i_j}(u_1) & dx_{i_j}(u_2) & \dots & dx_{i_j}(u_{n-1}) \\ \vdots & \vdots & \ddots & \vdots \\ dx_{i_n}(u_1) & dx_{i_n}(u_2) & \dots & dx_{i_n}(u_{n-1}) \end{vmatrix}$$

Let $dx_{i_p}(u_q) = u_{qp}$ and $dx_{i_p} = dx_p$

$$\begin{aligned} (\widehat{dx}_1 \wedge dx_2 \wedge \dots \wedge dx_n)(u_1, \dots, u_{n-1}) &= \begin{vmatrix} dx_2(u_1) & dx_2(u_2) & \dots & dx_2(u_{n-1}) \\ dx_3(u_1) & dx_3(u_2) & \dots & dx_3(u_{n-1}) \\ \vdots & \vdots & \ddots & \vdots \\ dx_n(u_1) & dx_n(u_2) & \dots & dx_n(u_{n-1}) \end{vmatrix} \\ &= \begin{vmatrix} u_{12} & u_{22} & \dots & u_{(n-1)2} \\ u_{13} & u_{23} & \dots & u_{(n-1)3} \\ \vdots & \vdots & \ddots & \vdots \\ u_{1(n-1)} & u_{2(n-1)} & \dots & u_{(n-1)(n-1)} \end{vmatrix} \end{aligned}$$

Its transpose is

$$\begin{vmatrix} u_{12} & u_{13} & \dots & u_{1(n-1)} \\ u_{22} & u_{23} & \dots & u_{2(n-1)} \\ \vdots & \vdots & \ddots & \vdots \\ u_{(n-1)2} & u_{(n-1)3} & \dots & u_{(n-1)(n-1)} \end{vmatrix}$$

If we continue in this way we can find the following result

$$\begin{aligned}
 (dx_1 \wedge \dots \wedge dx_{n-1} \wedge \widehat{dx}_n)(u_1, \dots, u_{n-1}) &= \begin{bmatrix} dx_1(u_1) & dx_1(u_2) & \dots & dx_1(u_{n-1}) \\ dx_2(u_1) & dx_2(u_2) & \dots & dx_2(u_{n-1}) \\ \vdots & \vdots & \ddots & \vdots \\ dx_{n-1}(u_1) & dx_{n-1}(u_2) & \dots & dx_{n-1}(u_{n-1}) \end{bmatrix} \\
 &= \begin{bmatrix} u_{11} & u_{21} & \dots & u_{(n-1)1} \\ u_{12} & u_{22} & \dots & u_{(n-1)2} \\ \vdots & \vdots & \ddots & \vdots \\ u_{1(n-1)} & u_{2(n-1)} & \dots & u_{(n-1)(n-1)} \end{bmatrix}
 \end{aligned}$$

and its transpose is

$$\begin{bmatrix} u_{11} & u_{12} & \dots & u_{1(n-1)} \\ u_{21} & u_{22} & \dots & u_{2(n-1)} \\ \vdots & \vdots & \ddots & \vdots \\ u_{(n-1)1} & u_{(n-1)2} & \dots & u_{(n-1)(n-1)} \end{bmatrix} .$$

If we compare the above result with terms on the right of the equation (1.2) one by one, we can find the following

$$\begin{aligned}
 (1.4) \quad dA(u_1, \dots, u_{n-1}) &= n_1 \widehat{dx}_1 \wedge dx_2 \wedge \dots \wedge dx_n(u_1, \dots, u_{n-1}) \\
 &\quad - n_2 dx_1 \wedge \widehat{dx}_2 \wedge \dots \wedge dx_n(u_1, \dots, u_{n-1}) + \dots + \\
 &\quad (-1)^{n+1} n_n dx_1 \wedge dx_2 \wedge \dots \wedge \widehat{dx}_n(u_1, \dots, u_{n-1}) \\
 &= (n_1 dx_1 \wedge dx_2 \wedge \dots \wedge dx_{n-2} dx_1 \wedge \widehat{dx}_2 \wedge \dots \wedge dx_n + \dots + \\
 &\quad + (-1)^{n+1} dx_1 \wedge \dots \wedge \widehat{dx}_n)(u_1, \dots, u_{n-1}).
 \end{aligned}$$

From the right side of the equation (1.4), for each $u_i \in T_M(x)$, $1 \leq i \leq n-1$, we get

$$dA = \sum_{j=1}^n (-1)^{j+1} n_j dx_1 \wedge dx_2 \wedge \dots \wedge \widehat{dx}_j \wedge \dots \wedge dx_n.$$

For each $u_i \in T_M(x)$ and $z \in T_{E^n}(x)$

$$\begin{aligned}
 \langle z, N \rangle \langle u_1 \wedge u_2 \wedge \dots \wedge u_{n-1}, N \rangle &= \langle z, N \rangle \langle \lambda N, N \rangle \\
 &= \langle z, N \rangle \lambda \\
 &= \langle z, \lambda N \rangle \\
 &= \langle z, u_1 \wedge u_2 \wedge \dots \wedge u_{n-1} \rangle
 \end{aligned}$$

and

$$\langle z, N \rangle dA(u_1, \dots, u_{n-1}) = \langle z, u_1 \wedge u_2 \wedge \dots \wedge u_{n-1} \rangle.$$

If we take

$$z = \frac{\partial}{\partial x_1} = (1, 0, \dots, 0), \text{ we get}$$

$$\begin{aligned}
 n_1 dA(u_1, \dots, u_{n-1}) &= \begin{bmatrix} 1 & 0 & \dots & 0 \\ u_{11} & u_{12} & \dots & u_{1n} \\ \vdots & \vdots & \ddots & \vdots \\ u_{(n-1)1} & u_{(n-1)2} & \dots & u_{(n-1)n} \end{bmatrix} \\
 &= (dx_2 \wedge \dots \wedge dx_n)(u_1, \dots, u_{n-1}).
 \end{aligned}$$

Then

$$n_1 dA = dx_2 \wedge \dots \wedge dx_n$$

is obtained. Now, if we take

$$z = \frac{\partial}{\partial x_2} = (0, 1, 0, \dots, 0), \dots, z = \frac{\partial}{\partial x_n} = (0, 0, \dots, 0, 1)$$

respectively, we can find

$$\begin{aligned}
 n_2 dA &= -dx_1 \wedge dx_3 \wedge \dots \wedge dx_n \\
 &\vdots \\
 n_n dA &= (-1)^{n+1} dx_1 \wedge \dots \wedge dx_{n-1}.
 \end{aligned}$$

THEOREM I.1 (Generalized Green's Theorem):

Let M be a compact n -dimensional manifold-with-boundary $[1]$ in E_n and suppose that

$$f_1, f_2, \dots, f_n: M \longrightarrow \mathbb{R}$$

are n -variable differentiable functions. Then

$$\underbrace{\int \int \dots \int_{\partial M} \{f_1 dx_2 \wedge \dots \wedge dx_n + f_2 dx_1 \wedge dx_3 \wedge \dots \wedge dx_n + \dots + f_n dx_1 \wedge \dots \wedge dx_{n-1}\}}_{(n-1)\text{-fold}} =$$

$$\underbrace{\int \int \dots \int_M \left\{ \frac{\partial f_1}{\partial x_1} - \frac{\partial f_2}{\partial x_n} + \dots + (-1)^{n+1} \frac{\partial f_n}{\partial x_n} \right\}}_{n\text{-fold}} dx_1 \wedge \dots \wedge dx_n$$

PROOF: If an Euclidean coordinate system in E^n is

$$\{x_1, \dots, x_n\}$$

and a base of

$$\Lambda^{n-1} (T^*_M(x))$$

is

$$\{dx_1 \wedge \dots \wedge \widehat{dx_j} \wedge \dots \wedge dx_n, 1 \leq j \leq n\}$$

We can write

$$W = \sum_{j=1}^n f_j dx_1 \wedge \dots \wedge \widehat{dx_j} \wedge \dots \wedge dx_n$$

$$dW = \frac{\partial f_1}{\partial x_1} dx_1 \wedge dx_2 \wedge \dots \wedge dx_n$$

$$+ \frac{\partial f_2}{\partial x_2} dx_2 \wedge dx_1 \wedge dx_3 \wedge \dots \wedge dx_n$$

$$+ \dots + \frac{\partial f_n}{\partial x_n} dx_n \wedge dx_1 \wedge dx_2 \wedge \dots \wedge dx_{n-1}$$

$$= \left\{ \frac{\partial f_1}{\partial x_1} - \frac{\partial f_2}{\partial x_2} + \dots + (-1)^{n+1} \frac{\partial f_n}{\partial x_n} \right\} dx_1 \wedge dx_2 \wedge \dots \wedge dx_n.$$

According to Stokes theorem, we have

$$\underbrace{\int \int \dots \int_{\partial M} w}_{(n-1)\text{-fold}} = \underbrace{\int \int \dots \int_M dw}_M$$

Thus, the theorem is proved.

THEOREM: I.3 (Generalized Divergence Theorem):

Let $M \subset E^n$ be a compact n -dimensional manifold-with-boundary and N be the outward unit normal vector field on ∂M . If a differentiable vector field on M is F then

$$\underbrace{\int \int \dots \int_M}_{n\text{-fold}} \operatorname{div} F \, dV = \underbrace{\int \int \dots \int_{\partial M}}_{(n-1)\text{-fold}} \langle F, N \rangle \, dA.$$

Here the hyper volume element on M is dV the hyper area element on M is dA .

PROOF: Firstly, for the vector field

$$F: M \xrightarrow{1:1} \bigcup_{p \in M} T_M(p)$$

$$p = (x_1, \dots, x_n) \longrightarrow F(x_1, \dots, x_n) = f_1(x_1, \dots, x_n) \frac{\partial}{\partial x_1} + \dots + f_n(x_1, \dots, x_n) \frac{\partial}{\partial x_n},$$

the divergence of F is

$$\operatorname{div} F = \sum_{i=1}^n \frac{\partial f_i}{\partial x_i},$$

the Euclidean coordinate system in E^n is

$$\{x_1, \dots, x_n\}$$

and if we choose

$$\{(-1)^{j+1} dx_1 \wedge dx_2 \wedge \dots \wedge \widehat{dx}_j \wedge \dots \wedge dx_n, 1 \leq j \leq n\}$$

as a base of

$$\Lambda^{n-1}(T^*_M(x))$$

then we can write $(n-1)$ -form on M , which is shown as W

$$W = \sum_{j=1}^n (-1)^{j+1} f_j dx_1 \wedge \dots \wedge \widehat{dx}_j \wedge \dots \wedge dx_n.$$

Then,

$$dW = \frac{\partial f_1}{\partial x_1} dx_1 \wedge \dots \wedge dx_n - \frac{\partial f_2}{\partial x_2} dx_2 \wedge dx_1 \wedge dx_3 \wedge \dots \wedge dx_n + \dots$$

$$\begin{aligned}
 & + \dots + (-1)^{n+1} \frac{\partial f_n}{\partial x_n} dx_n \wedge dx_1 \wedge \dots \wedge dx_{n-1} \\
 & = \left\{ \frac{\partial f_1}{\partial x_1} + \frac{\partial f_2}{\partial x_2} + \dots + \frac{\partial f_n}{\partial x_n} \right\} dx_1 \wedge dx_2 \wedge \dots \wedge dx_n \\
 & = \operatorname{div} F \, dV.
 \end{aligned}$$

In addition, we have

$$\langle F, N \rangle = f_1 n_1 \, dA + f_2 n_2 \, dA + \dots + f_n n_n \, dA$$

on ∂M , [1]. Now, from theorem (1.1), we can write

$$n_j \, dA = (-1)^{j+1} dx_1 \wedge \dots \wedge \widehat{dx_j} \wedge \dots \wedge dx_n$$

and

$$\begin{aligned}
 \langle F, N \rangle \, dA & = f_1 dx_2 \wedge \dots \wedge dx_n - f_2 dx_1 \wedge dx_3 \wedge \dots \wedge dx_n + \dots \\
 & \quad + (-1)^{n+1} f_n dx_1 \wedge dx_2 \wedge \dots \wedge dx_{n-1} \\
 & = W
 \end{aligned}$$

is obtained. Again from Stokes theorem

$$\underbrace{\int \int \dots \int_M}_{n\text{-fold}} \operatorname{div} F \, dA = \underbrace{\int \int \dots \int_{\partial M}}_{(n-1)\text{-fold}} \langle F, N \rangle \, dA$$

is obtained.

II.1. HYPERSURFACES

Each $(n-1)$ -submanifold of a n -manifold is called an hypersurface [3]. A $(n-1)$ real parameter hypersurface M in E^n is given by the vector

$$\vec{X} = \vec{X}(u_1, \dots, u_{n-1}) = x_1(u_1, \dots, u_{n-1}) \frac{\partial}{\partial x} + \dots + x_n(u_1, \dots, u_{n-1}) \frac{\partial}{\partial x_n}$$

and the outward unit vector field of M is defined as

$$(II.1) \quad \vec{N}|_x = \frac{\vec{X}_{u_1} \wedge \dots \wedge \vec{X}_{u_{n-1}}}{\| \vec{X}_{u_1} \wedge \dots \wedge \vec{X}_{u_{n-1}} \|}$$

Let us choose the coordinate neighborhood U in M in such a way that

$x: (u_1, \dots, u_{n-1}) \in U \subset E^{n-1} \longrightarrow X(u_1, \dots, u_{n-1}) = x \in M$
is satisfied. Let the system

$$\{\vec{X}_{u_1}, \dots, \vec{X}_{u_{n-1}}\}$$

be an orthonormal base for $T_M(x)$. In this case, the orientation in M is given by

$$[\vec{N}(x), \vec{X}_{u_1}, \vec{X}_{u_2}, \dots, \vec{X}_{u_{n-1}}] = \mu_x$$

and

$$\vec{N}(x) = \vec{X}_{u_1} \wedge \vec{X}_{u_2} \wedge \dots \wedge \vec{X}_{u_{n-1}}.$$

dA hyper area element at $p \in M$ point neighborhood of

$$\vec{X} = \vec{X}(u_1, \dots, u_{n-1})$$

is

$$(II.2) \quad dA = \|\vec{X}_{u_1} \wedge \dots \wedge \vec{X}_{u_{n-1}}\| du_1 \wedge du_2 \wedge \dots \wedge du_{n-1}$$

and the vector differential form of the same vector is

$$(II.3) \quad d\vec{X} = \sum_{i=1}^{n-1} \vec{X}_{u_i} du_i$$

and, again by multiplying

$$(II.4) \quad \underbrace{d\vec{X} \wedge \dots \wedge d\vec{X}}_{(n-1)}$$

is defined as the vector differential form of the $(n-1)$ -th order.

THEOREM II.1

With the $(n-1)$ -real parameter

$$\vec{X} = \vec{X}(u_1, \dots, u_{n-1}) = x_1(u_1, \dots, u_{n-1}) \frac{\partial}{\partial x_1} + \dots + x_2(u_1, \dots, u_{n-1}) \frac{\partial}{\partial x_{n-1}}$$

for the M regular hypersurface in E^n

1. $\underbrace{d\vec{X} \wedge \dots \wedge d\vec{X}}_{(n-1)\text{-fold}} = (n-1)! \vec{N}dA$
2. $\underbrace{(d\vec{X} \wedge \dots \wedge d\vec{X})}_{(n-2)\text{-fold}} \wedge dN = -(n-1)! H\vec{N}dA$
3. $\underbrace{d\vec{N} \wedge \dots \wedge d\vec{N}}_{(n-1)\text{-fold}} = (-1)^{n-1} K\vec{N}dA,$

where, \vec{N} is the unit normal vector field of the regular hypersurface M given by the vector \vec{X} , and for the mean curvature function H on hypersurface M , we have

$$(n-1) H = \sum_{i=1}^{n-1} k_i,$$

where k_i are the principal curvature functions. And, for the higher order Gaussian curvature function K on the hypersurface, we have

$$K = \prod_{i=1}^{n-1} k_i.$$

PROOF: 1. As

$$du_i \wedge du_j = \begin{cases} 0 & i = j \\ -du_j \wedge du_i & i \neq j \end{cases}$$

then, the number of the orders of the multipliers

$$\underbrace{d\vec{X} \wedge \dots \wedge d\vec{X}}_{(n-1)}$$

is $(n-1)$ and all of them equal to each other. That is,

$$\underbrace{d\vec{X} \wedge \dots \wedge d\vec{X}}_{(n-1)} = \left(\sum_{i=1}^{n-1} \vec{X}u_i du_i \right) \wedge \dots \wedge \left(\sum_{i=1}^{n-1} \vec{X}u_i du_i \right)$$

$$\begin{aligned}
&= (n-1)! \vec{X}_{u_1} \wedge \vec{X}_{u_2} \wedge \dots \wedge \vec{X}_{u_{n-1}} du_1 \wedge du_2 \wedge \dots \wedge du_{n-1} \\
&= (n-1)! \vec{N} dA.
\end{aligned}$$

2. To prove this we take the parameter curves as the curvature line. Thus, according to Olinde Rodrigues formulae

$$\vec{N}u_i = -k_i \vec{X}u_i.$$

$$\begin{aligned}
\underbrace{(d\vec{X}\wedge\dots\wedge d\vec{X})}_{(n-2)\text{-fold}} \wedge d\vec{N} &= \left(\sum_{i=1}^{n-1} \vec{X}u_i du_i \wedge \dots \wedge \sum_{i=1}^{n-1} \vec{X}u_i du_i \right) \wedge \sum_{i=1}^{n-1} (-k_i \vec{X}u_i du_i) \\
&= (n-2)! (-k_1 \dots -k_{n-1}) \vec{X}u_1 \wedge \dots \wedge \vec{X}u_{n-1} du_1 \wedge \dots \wedge du_{n-1} \\
&= -(n-1)! \vec{H} \vec{N} dA.
\end{aligned}$$

$$\begin{aligned}
3. \underbrace{d\vec{N} \wedge \dots \wedge d\vec{N}}_{(n-1)\text{-fold}} &= \left(\sum_{i=1}^{n-1} -k_i \vec{X}u_i du_i \right) \wedge \dots \wedge \left(\sum_{i=1}^{n-1} -k_i \vec{X}u_i du_i \right) \\
&= (-1)^{n-1} k_1 \vec{X}u_1 \wedge k_2 \vec{X}u_2 \wedge \dots \wedge k_{n-1} \vec{X}u_{n-1} du_1 \wedge \dots \wedge du_{n-1} \\
&= (-1)^{n-1} \vec{K} \vec{N} dA
\end{aligned}$$

are obtained.

II.2. PARALLEL HYPERSURFACES IN E^n

Suppose M an hypersurface in E^n given by the equation

$$\vec{X} = \vec{X}(u_1, \dots, u_{n-1}) = x_1(u_1, \dots, u_{n-1}) \frac{\partial}{\partial x_1} + \dots + x_n(u_1, \dots, u_{n-1}) \frac{\partial}{\partial x_{n-1}}$$

If another M_t hypersurface in E^n is given as

$$\vec{X}_t = \vec{X} + t\vec{N}.$$

Then, the hypersurfaces M and M_t are called parallel hypersurfaces. Here t is a real parameter and N is also the unit normal vector field of M . According to this definition, it is clear that \vec{X}_t and \vec{X} have the same unit normal vector field. Thus,

$$\begin{aligned}
 \underbrace{d\vec{X}_t \wedge \dots \wedge d\vec{X}_t}_{(n-1)\text{-fold}} &= \sum_{i=1}^{n-1} (\vec{X}_t)_{u_i} du_i \wedge \dots \wedge \sum_{i=1}^{n-1} (\vec{X}_t)_{u_i} du_i \\
 &= (n-1)! (\vec{X}_t)_{u_1} \wedge \dots \wedge (\vec{X}_t)_{u_{n-1}} du_1 \wedge \dots \wedge du_{n-1} \\
 &= (n-1)! \vec{X}_t dA_t \\
 &= (n-1)! \vec{X} dA_t .
 \end{aligned}$$

On the other hand,

$$\begin{aligned}
 \underbrace{d\vec{X}_t \wedge \dots \wedge d\vec{X}_t}_{(n-1)\text{-fold}} &= (d\vec{X} + t d\vec{N}) \wedge (d\vec{X} + t d\vec{N}) \wedge \dots \wedge (d\vec{X} + t d\vec{N}) \\
 &= \underbrace{d\vec{X} \wedge \dots \wedge d\vec{X}}_{(n-1)\text{-fold}} + \binom{n-1}{1} t \underbrace{(d\vec{X} \wedge \dots \wedge d\vec{X}) \wedge d\vec{N}}_{(n-2)\text{-fold}} + \\
 &+ \binom{n-1}{2} t^2 \underbrace{(d\vec{X} \wedge \dots \wedge d\vec{X}) \wedge d\vec{X} \wedge d\vec{N}}_{(n-3)\text{-fold}} + \dots + \\
 &+ \binom{n-1}{n-2} t^{n-2} \underbrace{d\vec{X} \wedge (d\vec{N} \wedge \dots \wedge d\vec{N})}_{(n-2)\text{-fold}} + \binom{n-1}{n-1} t^{n-1} \underbrace{d\vec{N} \wedge \dots \wedge d\vec{N}}_{(n-1)\text{-fold}} .
 \end{aligned}$$

Thus

$$\begin{aligned}
 (n-1)! \vec{N} dA_t &= (n-1)! \vec{N} dA - \binom{n-1}{1} t (n-1)! \vec{N} dA - \binom{n-1}{2} t^2 (n-3)! \sum_{i_1 < i_2 = 1}^{n-1} (-1)^2 \\
 k_{i_1} k_{i_2} \vec{N} dA &+ \dots + \binom{n-1}{p} t^p p! (n-1-p)! \sum_{i_1 < \dots < i_p = 1}^{n-1} (-1)^p k_{i_1} \dots k_{i_p} \vec{N} dA \\
 + \dots + \binom{n-1}{n-2} t^{n-2} (n-2)! &\sum_{i_1 < \dots < i_{n-2} = 1}^{n-1} (-1)^{n-2} k_{i_1} \dots k_{i_{n-2}} \vec{N} dA \\
 + \dots + \binom{n-1}{n-1} t^{n-1} (n-1)! &(-1)^{n-1} \vec{N} dA
 \end{aligned}$$

is obtained. If we multiply both sides of the equation by \vec{N} as scalar product and taking the higher order Gaussian curvatures [4] and if

we integrate the above expression on M , the area $A(t)$ of M_t hypersurface parallel to M can be written as

$$(II.5) \quad A(t) = A(0) - \binom{n-1}{1} t \int_M H dA + t^2 \int_M K_2(k_1, \dots, k_{n-1}) dA + \\ + \dots + (-1)^{n-2} t^{n-2} \int_M K_{n-2}(k_1, \dots, k_{n-1}) dA + (-1)^{n-1} t^{n-1} \int_M K dA.$$

If M is closed the volume, formed by all the points of M_t hypersurfaces are formed by changing t , is V , then

$$(II.6) \quad V = tA(0) - \frac{n-1}{2} t^2 \int_M H dA + \frac{t^3}{3} \int_M K_2(k_1, \dots, k_{n-1}) dA + \\ + \dots + (-1)^{n-2} \frac{t^{n-1}}{n-1} \int_M K_{n-2}(k_1, \dots, k_{n-1}) dA + (-1)^{n-1} \frac{t^n}{n} \int_M K dA$$

is obtained.

III.1. THE VOLUME OF ORBIT-HOSE

Let us represent the moving space H with the positive oriented orthonormal system $\{0, \vec{E}_i\}$ and the fixed space H' with the positive oriented orthonormal system $\{Q', \vec{E}'_i\}$. Besides, let's take a third positive oriented orthonormal system $\{Q, \vec{R}_i\}$, relative system, representing space H_1 .

Let

$$\vec{OQ} = \vec{q} \quad \text{and} \quad \vec{O'Q} = \vec{q}'.$$

Variation, of the initial point Q of the relative system according to the moving space H is

$$\vec{dq} = \sum_{i=1}^n w^*_i \vec{R}_i = \vec{w}^*$$

and again, variation of the initial point Q of the relative system according to the fixed space H' is

$$\vec{dq}' = \sum_{i=1}^n w_i^{*'} \vec{R}_i = \vec{w}'^*$$

If the coordinates of the point $x \in H_1$ according to $\{Q, \vec{R}_i\}$ is (x_1, \dots, x_n) , the change of point according to H_1 will be

$$\vec{dx} = d \left(\sum_{i=1}^n x_i \vec{R}_i \right).$$

As \vec{X} and \vec{X}' are

$$\vec{X} = \vec{OX} = \vec{OQ} + \vec{QX} = \vec{q} + X^T R$$

$$\vec{X}' = \vec{O'X} = \vec{O'Q} + \vec{QX} = \vec{q}' + X^T R$$

the change of the point X according to H is

$$\begin{aligned} d\vec{X} &= d\vec{q} + d(X^T R) = w^{*T} R + X^T dR + (dX^T) R \\ &= w^{*T} R + X^T \Omega R + (dX^T) R \end{aligned}$$

and the change of the point X according to H' is

$$d\vec{X}' = d\vec{q}' + dX^T R = w'^{*T} R + X^T \Omega' R + (dX^T) R.$$

If X is a fixed point at H , then the sliding velocity of the point X will be

$$d_t \vec{X} = d\vec{X}' - d\vec{X}$$

$$d_t X^T R = (w'^* - w^*)^T + X^T (\Omega' - \Omega) R.$$

Since $\Omega' - \Omega$ is a skewsymmetric matrix. Now, if we represent

$$\Omega' - \Omega = \Psi^*$$

the equation of the matrix form of the sliding velocity is

$$(III.1) \quad d_t X^T = (w'^* - w^*)^T + X^T \Psi^*.$$

Here the column matrix $w'^* - w^*$ correspond to the moment of the Darboux tensor Ψ^* , with respect to the point Q and so we denote it by

$$\Psi^{**} = w'^* - w^*$$

and

$$(III.2) \quad d_t X = \Psi^{**} + \Psi^{*T} X$$

is obtained [5].

The hypersurface M , whose boundary is ∂M , in the moving space H generates a space shaped like a hypertorus in the space H' in the motion $H/H' = B$. This space is called the orbit-hose of M . The dV hyper volume element of this orbit-hose is

$$\begin{aligned} dV &= \langle d_r \vec{X}, d\vec{A} \rangle \\ &= \langle \Psi^{*} - \Psi^{T} \wedge \vec{X}, \frac{1}{(n-1)!} \underbrace{d\vec{X} \wedge \dots \wedge d\vec{X}}_{(n-1)\text{-fold}} \rangle \\ &= \frac{1}{(n-1)!} \langle \Psi^{*}, \underbrace{d\vec{X} \wedge \dots \wedge d\vec{X}}_{(n-1)\text{-fold}} \rangle + \frac{1}{(n-1)!} \langle \Psi^{T} \wedge \vec{X}, \underbrace{(d\vec{X} \wedge \dots \wedge d\vec{X})}_{(n-1)\text{-fold}} \rangle \end{aligned}$$

and

$$(III.3) \quad V = \left\langle \int_B \Psi^{*}, \int_M N d\vec{A} \right\rangle + \left\langle \int_B \Psi^{T} \wedge \vec{X}, \int_M N d\vec{A} \right\rangle$$

is obtained.

ÖZET

E^n de μ yönlü $(n-1)$ - manifold için dA hiper alan elemanı ile ilgili teorem geliştirilerek, geliştirilmiş Divergens Teoreminin ispatında kullanıldı ve hiperyüzeylerde M manifoldunun dış birim normal vektör alanı

$$\vec{N} \Big|_x = \frac{\vec{X}u_1 \wedge \dots \wedge \vec{X}u_{n-1}}{\|\vec{X}u_1 \wedge \dots \wedge \vec{X}u_{n-1}\|}$$

biçiminde ve dA hiper alan elemanı da

$$dA = \|\vec{X}u_1 \wedge \dots \wedge \vec{X}u_{n-1}\| du_1 \wedge \dots \wedge du_{n-1}$$

biçiminde tanımlanarak M hiperyüzeyine paralel M_t hiperyüzeyinin $A(t)$ alanı hesaplandı.

Ayrıca hareketli H uzayının H/H' hareketinde meydana gelen yörünge hortumunun hacmi hesaplandı.

REFERENCES

- [1] SPIVAK, M. Calculus On Manifolds. W.A. Benjamin New York (1965), pp: 82-129.
- [2] HACISALİHOĞLU, H.H. Yüksek Diferensiyel Geometriye Giriş. Fırat Üniversitesi Fen Fakültesi Yayınları Mat. 2. Elazığ-Türkiye (1980), pp: 188-238.

- [3] HICKS, J.H. Notes on Differential Geometry. Van Nostrand Reinhold Company London (1917), pp: 21-25.
- [4] ÖZDAMAR, E. - HACISALİHOĞLU, H.H. Higher Order Gaussian Curvatures and Fundamental Forms. Journal of the Fac. SC. of the K.T.Ü. Vol. I. Fasc. 9 pp: 99-116.
- [5] HACISALİHOĞLU, H.H. On the Darboux Tensor. Journal of Fac. Sc. of the K.T.Ü. Vol. 1. Fasc. 6. (1977), pp: 53-68.